Question Paper Title : PRELIM-3_P10

Date of Exam : 21-05-2018 09:30 AM

Answer:

16/20 + 2.5-5/40 =7

What is 16/20 + 2.5 - 5/40 ?

A.1.55
A.1.55

B.0.775
B.0.775

C.3.175
C.3.175

D.1.225
D.1.225

C.3.175
C.3.175

R GATH TR 3G,

Barkha Dutt is a famous

A ST

A.actor

B.ISIHRUI

B.politician

C.UAPR
C.journalist

DI
D.singer
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Answer: B .JTSTHRUMN

B.politician

3 WAUD! DHIUT AT 31T STt Hded I 31?2

Which of the following is a tax that belongs exclusively to the state?

A STH T8

A.Land Revenue

B IR[eh

B.Customs

C.3TR R YR
C.Surcharge on income tax
D . kil 310 Ui HUited Higdel Hedrar H

D.Taxes on capital value of assets of individuals and companies

Answer: A STH T8

A.Land Revenue

4 YR AT S0l 3ase TTdiie RIgomer SfeR TaH &l ?

Which article of the Constitution of India provides the Right to Elementary Education ?

A.3[T=9G 86

A.Article 86

B.3M w96 21T

B.Article 21A

C.3=¢G 17

C.Article 17

D.3fIw9G 36 S

D.Article 36D

Answer: B.\’ﬂ@?{ 21U

B.Article 21A
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5 YR ' ¥ siieg 7T g BId.
The Grand Old Man of India was a title famosly givento____
A GTGTHTS RISit
A.Dadabhai Naroji

B.HgTeT el
B.Mahatma Gandhi

R CIRGINERS
C.Jawaharlal Nehru

D. €T TR feesh
D.Bal Gangadhar Tilak

Answer: A.ETET?-IT"-:E RIS
A.Dadabhai Naroji

6 IR WIeR! SRR FYal i ded el gld.

The member of the Drafting committee who was the last to sign the Constitution was

A ST Iig TG
A.Dr. Rajendra Prasad

B.4. 3R, 3fdgH
B.B R Ambedkar

R CIRGINERS
C.Jawaharlal Nehru

D.IRER Ucd
D.Sardar Patel

Answer: A3 Ig UG
A.Dr. Rajendra Prasad
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7 GTeierdes! I ST e JHAd! AT THIRT 3MTE?

Which of the following items is a part of the Concurrent List?

A SHTERIAT Bl fday
A.Prevention of cruelty to animals

B.famm

B.Insurance

C.Hlgd g
C.Intoxicating liquors

D X% TaRaisl ST @Y ATahe

D.Stock exchanges and futures markets

Answer: A SHTERIAT H3dT Uiday
A.Prevention of cruelty to animals

8 HRATE gaid Hid HieR B0 3Mg?

Which is the largest temple in India?

AIHFGE! HidR, IHHRY
A.Ramanathaswamy Temple, Rameshwaram
B.dls ddhe R HigR, fawud-fazaan

B.Lord Venkateshwara Temple, Tirupati-Tirumala
C. &Ry, faea

C.Akshardham, Delhi

D4 {TYRaTH widR, JR

D.Sri Ranganathaswamy Temple, Srirangam

Answer: D. &t ATy Hiex, FH

D.Sri Ranganathaswamy Temple, Srirangam
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9 YRATa "fa-T=1e i Sfa=R Ta oA &ioft ged?
Who called India as an “indestructible Union of destructible states“?

A 3R, eSHT
A.B R Ambedkar

B.HIgWC 3feht forT
B.Mohd. Ali Jinnah

R CIRGINE RS
C.Jawaharlal Nehru

D.RER IeAHHTS Ued
D.Sardar Vallabhai Patel

Answer: Ad AR, ESHT
A.B R Ambedkar

10 HERTY fAuMae sfegf (W) 3fed (20 T, 2018 TAR).

is the speaker of the Maharastra Vidhan Sabha (as on April 20th, 2018)

ATRT $AR

A.Meira Kumar

B. gt ggreH

B.Sumitra Mahajan

C. 8RS IS
C.Haribhau Bagde

D.J1UTH W fod urdia
D.Radhakrishna Vikhe Patil

Answer: C.BRHTS dFTS
C.Haribhau Bagde
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11 18 9 3 T TV HeIqdTd Gl 1a- BhRUGRITST oIl W= JTiel 9 ¢udrd dd?

Which freedom fighter is credited with reviving the Ganapati Festival in 18937

A FETET et
A.Mahatma Gandhi

B.dlipu fessh
B.Lokmanya Tilak

C.foftm ¥ ura
C.Bipin Chandra Pal

D.cfTedl oslud MY
D.Lala Lajpat Rai

Answer: B d®d fead
B.Lokmanya Tilak

12 T BT § Wo% =t HI3T 318, T &t g1 T g % BT 36,

A is higher than B by 50% . Then B is lower than A by %.

A.300
A.100

B.¥o
B.40

CR\4
C.25

D.33.33
D.33.33

Answer: D.33.33
D.33.33
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13 SR @ 31T "YRTHR' 30T $ 318 UIHR, R Weileiert Jafd T qafg HIurdr g2

If @ = 'Divide' and $ = 'Multiply', then which is the smallest among the options?

A.24@5
A.24@5

B.1.5$4.25
B.1.5$4.25

C.23@3
C.23@3

D.3%1.5
D.3%1.5

Answer: D.3%1.5
D.3%$1.5

14 R0 Y hg-I[oy e GYRUIGR RIBREN Huarrd! dffierg WRabR A
T 3regef TU HIomd! g et gla?

Who was appointed as the head of a three-member committee by the Tamil Nadu
government in 1970 to make recommendations on the improvement of centre-state
relations?

A HSUMAE
A.M K Karunanidhi

B. U= AfcaR
B.Palaniappa Chettiar

C.TH W IH<IgA
C.M G Ramachandran

D. Ul g IGHAR

D.P V Rajamannar

Answer: D.Ul g STHAR
D.P V Rajamannar
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15 Sic 3o WTeflite! HIUTAT dedTaR HTH HRdl?

Jet engine works on which one of the followings principle ?

ASu Gaga

A.Energy conservation

B. AN (GgA) HaeH

B.Mass conservation

c.fofR i fRerdz=

C.Linear momentum conservation

D. ST T Taeq

D.Angular momentum conservation

Answer: c.ff R 0_6%[ ﬁ%ﬁ-‘ﬂ:{

C.Linear momentum conservation

16 WAl BT §19 HRA Rerd s SRaRid Ad Aret?

Which of the following is NOT a function of the Reserve Bank of India?

AT ATl SIRT R0

A.Issuing of currency notes

B3I R 1T IR FATRTof Saor

B.Be the custodian of Country’s Foreign Currency Reserves

C.TaTTA% ST ARG IhHT TRefdh gl

C.Be the custodian of Cash Reserves of Commercial Banks

D. ST URITET XY ATq0r

D.Unearth black money

Answer:  D.TeT URITET XNE ATG0N
D.Unearth black money
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17 19 1R ufig 3{Tgd

Shiv Nadar is a famous

A agrat

A.Businessman

B.UDTg

B.Sportsman
C ISIhRUfl

C.Politician

D%
D.Singer

Answer: AT

A.Businessman

18 B URANE 3= Rigoumaret wRezf faemaiar sieitid HRuamet HRd WReRdT Uh
HAHH 378

is a government of India program to attract foreign students to pursue higher
education in India.

AHRAIT 3T
A.Study in India

B.TR1&fur YRd
B.Education India

C.7dg URd
C.Destination India

D.fRrev 9 Hwd 3

D.Education shining

Answer:  A.HRAId AHYH
A.Study in India
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19

Answer:

20

Answer:

AT 22

A.Article 22

B.31Iw9G 19 (1)

B.Article 19(1)

C.31w5¢ 17

C.Article 17

D.3w5¢ 14 (1)

D.Article 14(1)

B.31Iw9G 19 (1)

B.Article 19(1)

Qoo T 3BTAT 20% =T W% foodl BIdTd ?

What is 10% of 5% of 9007?

A.R¢oo AT R0% AT 4%
A.20% of 5% of 1800

B.Roo AT 0% &1 R.4%
B.20% of 2.5% of 900

C.2¢00 AT W% AT R.U%
C.5% of 2.5% of 1800

D.¥4o T 0% T ¥0%
D.10% of 40% of 450

B.Roo AT 0% U1 R.4%
B.20% of 2.5% of 900

ATfedan SfISR ififam 2005 A o= Sidid gaud @R gof § Adl
SUTTd ST TR,

Right To Information has been given the status of a fundamental right under of the
Constitution in 2005.
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21 4.55+525+35- (550 +3.25-4.35)=

What is 4.55 + 5.25 + 3.5 - (56.50 + 3.25-4.35) ?

A.8.65
A.8.65

B.9.25
B.9.25

C.8.9
C.8.9

D.8.75
D.8.75

Answer: C.8.9
Cc.8.9

22 s Ho =0T STRd TS 10 JISATel 14 fad gd?

Which Indian state got its name because of the number of Buddhist monasteries present
there?

A SBUTEA U
A.Arunachal Pradesh

B.fagR

B.Bihar

c.Rura uew

C.Himachal Pradesh

D. 3fifear
D.Orissa

Answer: Bﬁ?’l?

B.Bihar
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23 54 T 1/12 + 12 A1 20% + 0.25 * 150 =

What is 1/12 of 54 + 20% of 12 + 0.25 * 150 ?

A4d4.4
A4d4.4

B.45.9
B.45.9

C.46.4
C.46.4

D.43.65
D.43.65

Answer: Ad44.4
A.44.4

24 90 T 20% - 16/20 + 1.25 =

20% of 90 - 16/20 + 1.25 =

A.18.95

A.18.95

B.18.2

B.18.2

C.18.45

C.18.45

D.18.85

D.18.85
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Answer:

25

Answer:

26

C.18.45

C.18.45

SR 3{TYUT ATehIge 3N A Haardied dd 3 3dd dk dlat doHdR B USUaTt
R 3MT5?

If we put egg along with shell inside microwave oven, what is most likely event that will take
place after long time?

A 3T RS0 R 318 ShecdyH0 g

A.Cooking of egg will be just similar to a boiled egg

B.F1Bd d5d USUdT Yl gl

B.No effect is likely to occur

C.3ISUr Hhad dShd
C.Explosion of egg shell

D.3{SUTd Had YU H1 Usd Al AR T drld
D.The egg shell will first turn black and then begin to burn.

C.3SIM Had dedhd
C.Explosion of egg shell

2016 T WHR] MBHSARITIR HRATAT HITT IsATd Faid BT a1 Jog & 3G

Which state has the lowest Infant Mortality Rate in India is as per government data of 2016.

A IS
A.Kerala

B.USd
B.Punjab

C.HERTY

C.Maharashtra

D AFTS
D.Nagaland
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Answer: A.W
A.Kerala

27 cied ulrg 3T8.

Aristotle is famous known as a

ATt

A.economist

B.&hdl
B.poet

C.dazH !

C.philosopher
DRSICED

D.author

Answer: C.FIFﬁIFﬁ

C.philosopher

28 gl TETe] fadTe Iy 31T IuT=aT TETR)T TTeTeRis fohal Heenfid Ueel =l Hedl 3fudl g

YRITERISR SN, geadid fgwa 141 TR g Yi¥enT U 31 faargifawdt
fofg g,

When a dispute arises with another state or group of states or union territory or central
government, shall adjudicate in such disputes per Article 141 of the constitution.

A Gefd I I URITeid dgad eUls
A.Joint bench of the High Courts of the concerned states

B.die =rTerd
B.Supreme Court

C.Iuq
C.Parliament

D Tyudl

D.President
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Answer: B.Jdied <
B.Supreme Court
29 SR x > 10 3T x < 30, TR WATAUD! Faid TG YU HIVIT 37Tg 2
If x > 10 and x < 30, then which of the following fractions is the least?
A.x/100
A.x/100
B.2x/230
B.2x/230
C.x/225
C.x/1225
D.0.5x/150
D.0.5x/150
Answer: D.0.5x/150
D.0.5x/150
30 ferge U9 g Mg
Leander Paes is a famous
A.él?-ll:lqg
A.tennis player
B.Jpcdld WA
B.football player
C.glo! WIS
C.hockey player
D dfiicd Warg
D.badminton player
Answer: A.%’ﬁmtl{{

A.tennis player
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31 3w gt ufrg BId

Amrish Puri was a famous

Afeesi®

A.Director

B. TG

B.Sportsman
C JSH R

C.Politician

D. 3T
D.Actor

Answer: D.G{ﬁ-ﬁ?ﬂ
D.Actor

32 T HIVI S1S g JARN GaTad ATel?
(U peiHe AT ST
() e
(3R) AT I
(

1) Yool IR 3T geferey ofs g

Which among the following does not belong to the Union List?
(P) Delimitation of cantonment areas

(Q) Lighthouses
(R) Fisheries

(S) Central Bureau of Intelligence and Investigation.
AT 3o g

A.P and Q

B.3(R 3101 79
B.Rand S

C.g 3T oy
C.Qand S
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D.$hdcs 3R

D.R only
Answer: D.a'TczlEO" 3R
D.R only
33 YR Ia- DTeitcileh] HIUTAT SRITd HTASRIR a1 aY 312 ?

In which country is the Indian currency a legal tender?

AAUS
A.Nepal

B SR

B.Bangladesh

C.HdmH
C.Bhutan

D.AUTeS STfO1 Y™
D.Nepal and Bhutan

Answer: D.AUTe5 0T Y
D.Nepal and Bhutan

34 7.15+8.5+0.55- (4.30 + 5.25-9.75) =

What is 7.15 + 8.5 + 0.55 - (4.30 + 5.25 - 9.75) ?

A16.4

A16.4

B.16.25

B.16.25
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C.16.15

C.16.15

D.16.75

D.16.75

Answer: A.16.4

A16.4

35 USRI AP & haid Hal 3Ted

Prakash Javadekar is the Union cabinet minister of

AT §o5 fabTy

A.Human Resource Development

SACRIEREIIUGERIE!
B.Science and Technology

C.fuuara gruft 31foT T
C.Drinking Water and Sanitation

D3RI IO ¢ HedTul
D.Health and Family Welfare

Answer: AT 9 [dhr

A.Human Resource Development

36 0.2¢3¢... § YUThTd SUTR &I

How do you write 0.1818... as a fraction?

ARIR
A.2/9
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Answer:

B.R1RC
B.2/18

C.RIRQ
C.2IM1

D.%/%%
D.1/11

C.R/IR}
C.2/M1

37

Haid a8 HEETR 38,
The smallest ocean is the

A.3cdiicd ASNITR

A.Atlantic ocean

B.fgcl AR

B.Indian ocean

Answer:

38

C.3Mfdc® AR

C.Arctic ocean

D.3fcIfR e HETITR

D.Antarctic ocean

C.Arctic ocean

IR NI

1,2,6,24,120,

C.3MMfaE P AR

Fill in the blank and complete the series: 1, 2, 6, 24, 120,

A.720
A.720

B.240

R_240
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Answer:

39

Answer:

40

C.360
C.360

D.480
D.480

A.720
A.720

T BT & =T 4o% 3T, A &I §T 3 =T % 35,

Ais 50% of B. Then B is % of A.

A.Lo
A.50

B.20o0
B.100

C.8ko
C.150

D.Roo
D.200

D.300
D.200

e T YRR AT Ael duR RIS fdhdt 93T et 2

The Constituent Assembly met for how many sessions to draft the Constitution of India?

A7
A7

B.9
B.9

C.11
C.11
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D.15

D.15
Answer: C.11
C.11
41 YRR I WTeltedab DIUTT SRITd PTICRIR a7 3¢ 3MTg?

In which country is the Indian currency a legal tender?

AAUS
A.Nepal

B SR

B.Bangladesh

C.Hdm+
C.Bhutan

D.AUTeS 3TfO1 Y™
D.Nepal and Bhutan

Answer: D.AUTes 0T Y
D.Nepal and Bhutan

42 o9 fafera uf¥ig 3{Tad

Bruce Willis is a famous

A ST
A.Actor

B.U®DIg

B.Sportsman

C. 3T
C.Actor

DRIIEECA
D.Singer
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Answer:

43

Answer:

44

Answer:

A3

A.Actor

YR TP U § A1......... T & e

A HgTET TTieht
A.Mahatma Gandhi

B.3\. 3{I. g9
B.A.O. Hume

C GIGTHTS AIRIol
C.Dadabhai Naorji

D IAi&ATY TFIR
D.Rabindranath Tagore

C TIGIHTS ARISH
C.Dadabhai Naorji

HRATET qaid garar Irod B0l g ?

Which is the easternmost state of India?

A 3BT T
A.Arunachal Pradesh

B.3{HTH
B.Assam

C ATeS
C.Nagaland

D.HfOIQR

D.Manipur

A.3BUTEA TS
A.Arunachal Pradesh

The name “Indian National Congress” was given by
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45 2018 ThIsH R ATE IR SHITe Taid dTHd adt 3]

According to the latest Forbes 2018 Billionaire list, the richest person in the world is

AdRA §hc
A.Warren Buffet

B.fad ficw
B.Bill Gates

C.V a3y

C.Jeff Bezos

D.fo1H dafee
D.Jim Walton

Answer: C.9% agﬁﬂ
C.Jeff Bezos

46 YR THAH Wfthd SATangEid 1 BT 3Mg?

is India's only active volcano.

A 3Mges

A.Barren Island

B.SISIdcl
B.Doddabetta

c.grafeid

C.Hardeol

D Aait

D.Majuli

Answer: AT Gﬂgﬁg

A.Barren Island
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47 YR AT STl YT STH-TeAT SGUTHTGT e T 2
(Uh) Geryd PR
() YD Yrae™ (aHd USRI Heia)
(31R) T R0 AR awa "

Which parts of the Constitution of India were borrowed from Germany?
(P) Fundamental Rights

(Q) Emergency Provisions (Suspension of Fundamental Rights)

(R) Directive Principles of State Policy

AT, o 31101 3R
AP, Qand R

B. Ut 30T oy
B.Pand Q

C.4t 3for 3R
CPandR

D.hdcs .
D.only Q

Answer: D.&des ]
D.only Q

48 SR ‘a’ 30T b’ ® @ > b > 0, AV WIehd YU Tedl HHibM AISTN HR.
[1] - alb
[2] alb
[3] - bla
[4] b/a

If a and b are positive integers such that a > b, then arrange the following fractions in
ascending order

[1]-a/b

[2] a/b

[3] - b/a

[4] b/a

A213,4
A213,4

B.1,3,4,2
B.1,3,4,2

http://www.adda247.com/mr | Adda247mtApp | https://t.me/Adda247Marathi


Dell
Line

https://www.adda247.com/?_branch_match_id=1063345501081485536&utm_source=blog_marathi&utm_campaign=app_dl&utm_medium=branch&_branch_referrer=H4sIAAAAAAAAA8soKSkottLXT0xJSTQyMddLLCjQy8nMy9YP8k0xNKyqrAwtSAIAgC9SkCQAAAA=

C1,24,3
C1,2,4,3

D.2,1,4,3
D.2,1,4,3

Answer: B.1,3,4,2
B.1,3,4,2

49 WU BTN RERI -Tai 3 31 T (IT1 ) HeTaeerd QI §IUR 3MTed?

In which of the following cities, a new IIT has been set up?

AR, TSR
A.Jaipur, Rajasthan

B.dlTTs
B.Chandigarh

C. AR, Hlcd
C.Bangalore, Karnataka

D.YRAle, plcdh
D.Dharwad, Karnataka

Answer:  D.YRdlg, h-lch
D.Dharwad, Karnataka

50 e 8 T YT WIeiadeh! 0T HIS=IT I Bl Tl gidl?

Which one of the following languages was originally mentioned in the 8th Schedule of the
Constitution?

AT
A.Bodo

B.®Iw Ul
B.Konkani

c Rt

a3l « HOA | N
WL.OITTULT
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D.HIRHRI

D.Kashmiri
Answer: D. BT
D.Kashmiri
51 WTAIdUP! Faid A UATT HIvdT 3Tg?

Which is the smallest among the following options?

A.350 T 70%
A.70% of 350

B.1300 =T 1/4
B.1/4 of 1300

C.0.35* 900
C.0.35* 900

D.700 d1 2/5
D.2/5 of 700

Answer: A.350 I 70%
A.70% of 350

52 SEYCISAITUR, a8 2017 AL YR ST SIde U 3fafel 376l SIeR gial.

As per WTO, Indian imports in the year 2017 were approximately ___ billion dollars.

A.275
A.275

B.305
B.305

C.320
C.320

D.385
D.385
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Answer: D.385
D.385

53 80 TT 25% - 12/20 + 2.5 =

25% of 80 - 12/20 + 2.5 =

A22.4

A224

B.21.9

B.21.9

C.21.65

C.21.65

D.22.3

D.22.3

Answer: B.21.9

B.21.9

54 TSI HT HI0TAT IS TR STeAt glail?

In which year was the first Rajya Sabha constituted?

A.1947
A.1947

B.1949

B 1040
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C.1950
C.1950

D.1952
D.1952

Answer: D.1952
D.1952

55 450 +3.25+4.35-(4.5-2.75-2.25)

Whatis 4.50 + 3.25 +4.35-(4.5-2.75-2.25) 7

A.12.45
A12.45

B.12.35
B.12.35

C.12.95
C.12.95

D.12.6
D.12.6

Answer: D.12.6
D.12.6

56 TSIl /=T SUTHTTTT HI0T 3Mga? ((20 T, 2018 TR)

Who is the current deputy chairman of the Rajya Sabha? (as on 20th April, 2018)

AIGHIH W1
A.Rahman Khan

B.UI & oA

B.P J Kurien

C.oTHT BUqedl

C.Najma Heptullah
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Answer:

57

Answer:

58

DRINIE K CIREE
D.Ghulam Nabi Azad

B.UI ol e

B.P J Kurien

faeeR W5e TR B

Wilbur Wright was a famous____

A TSRO

A.Politician

B.U3Tg

B.Sportsman

C.3{f=ar
C.Actor

D.HRNY®

D.Inventor

D. RN ®

D.Inventor

Weitete! Hivrd Yl WU ATel?

Which of the following is NOT a kharif crop?

AFRS

A.Mustard

B.HId
B.Rice

C.hIqd
C.Cotton

D.dToR]
D.Bajra
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Answer: ATBEH

A.Mustard

59 WTeaUD! HIv UG HhUcHed Udha! TdTG Sierdl Il -Tgl?

Which of the following is a popular “silent movie” where no dialogues were spoken?

A I®
A.Black

B.XIR
B.Shor

C.qud faum
C.Pushpaka Vimana

D.3HTH 3HRT
D.Alam Ara

Answer:  C.qWd fadM
C.Pushpaka Vimana

60 Tifciordidd Getd faeTd shies =NeT: 24, 720, 120, 6, 72, 5040

Find the odd one out: 24, 720, 120, 6, 72, 5040

A24
A24

B.5040
B.5040

C.6
C.6

D.72
D.72

Answer: D.72
D.72
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61

Answer:

62

Answer:

A. 37T 3ia
A.Abid Ali

B.XATGHIY TR
B.Rabindranath Tagore

C. RIS g
C.Sarojini Naidu

DX g 31H1

D.Ram Singh Thakuri

A.3fTfag 3rct

A.Abid Al

YRS 10 T Taid JiedT AFh o 3e?

The largest state in India (by area)is

A XTSI
A.Rajasthan

B.HEAUCY

B.Madhya Pradesh

C.HERTY

C.Maharashtra

D.3TR U

D.Uttar Pratesh

AXTSTRYTH
A.Rajasthan

YRl AP "SI 707 H7" Fefch: STl WIS ety <RIR gi- ferfeeiel gid. iy
TR SO YT AP fgdt 9 3¢ HIicR Biof det?

India's National Anthem "Jana Gana Mana" was originally written in Bengali by
Rabindranath Tagore. Who translated it into Hindi/Urdu as it is sung today?
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63

Answer:

64

Answer:

WTeitcte! Jaid AT Ay HIurar Mg ?

Which of the following options is the largest?

A.25 1 10% - 200 <A1 15% + 300 =T 30%
A.10% of 25 - 15% of 200 + 30% of 300

B.25 &1 5% + 200 =T 25% - 150 <41 5%
B.5% of 25 + 25% of 200 - 5% of 150

C.200 =11 30% - 150 =T 15% + 250 =T 30%
C.30% of 200 - 15% of 150 + 30% of 250

D.100 =T 10% + 200 =T 25% - 250 4T 5%
D.20% of 100 + 25% of 200 - 5% of 250

C.200 =T 30% - 150 =T 15% + 250 <A1 30%
C.30% of 200 - 15% of 150 + 30% of 250

G ININESINE RIS
2,5,18,41,

A.62
A.62

B.66
B.66

C.74
C.74

D.68
D.68

C.74
C.74

Fill in the blank and complete the series: 2, 5, 18,41,
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65 WTetadd! BV HABR TAYd §IPbId AISd -Tel?

Which of the following is NOT a fundamental right?

AXCATHSD U
A.Right to constitutional remedies

B.Sftaq STogrET AHfIBR
B.Right to life

C.Hifgdlan fIpR

C.Right to Information
D. TR W=

D.Freedom of press

Answer: D.TAGINAd W=
D.Freedom of press

66 7541 10% - 20/25 + 0.5 =

10% of 75-20/25+0.5=__

AT7.2

A7.2

B.7.7

B.7.7

C.6.95

C.6.95

D.7.6

D.7.6
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Answer: AT7.2

A7.2

67 Treitd gafaite! g1 shHiGTd Jatd da HIvl 3?2

Which is the 2nd smallest from among the given options?

A.350 d 70%
A.70% of 350

B.1300 dT 1/4
B.1/4 of 1300

C.0.35* 900
C.0.35* 900

D.700 T 2/5
D.2/5 of 700

Answer: D.700 dIl 2/5
D.2/5 of 700

68 SR @ 3§ "HITIHR 3M1fOT $ 31 TONHR, R Weliadd! Faid Tg Tafg ST 3?2

If @ = 'Divide' and $ = 'Multiply', then which is the smallest among the options?

A.33@5
A.33@5

B.2$3.5
B.2$3.5

C.19@3
C.19@3

D.3%$3
D.3$3
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Answer: C.19@3
C.19@3

69 T8 O ulig gld.

Gary Sobers was a famous

Al WBUMRI
A.footballer
B.fhaeug

B.cricketer

C.9Ydld Woslg
C.baseball player

D dRbeald BT
D.basketball player

Answer: B.fhaecug

B.cricketer

70 TR @ 31T '+ AT $ 3118 '—', TR Wichiadep! Tald AIST Uafg SHIurdT 3Mg?

If @ is '+'and $ is '-', then which of the following options is the largest?

A5@5@10$12@10@5%$2@4$8$ 10
A5@5@108312@10@5%$2@4$88$ 10

B15$5@10$15$10$5%$2%$4@8$ 10
B15$5@10$153$10$5%$234@8$ 10

C5@5%$10$12@10@5%2@4$8$10
C5@5%$10$12@10@5$2@4$8$10

DA5@5@10$15$10$5@234@8$ 10
DA5S@5@10$15$10$5@2%$4@8$ 10

Answer: A25@5@10%12@10@5%2@4%$8%10
A5 @5@10$12@10@5%2@4$8% 10
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71 1571 1/6 + 12 <A1 20% <HT1200% + 0.30 * 120 =

What is 1/6 of 15 + 200% of 20% of 12 + 0.30 * 120 ?

A43.3
A.43.3

B.44.8
B.44.8

C.45.3
C.45.3

D.42.55
D.42.55

Answer: A43.3
A43.3

72 SR x > 10 310 x < 20, TR WU Fafd HIST $qUIfes HIUAT 3R 2

If x> 10 and x < 20, then which of the following fractions is the largest?

A.x/150
A.x/150

B.2x/180
B.2x/180

C.0.5x/175
C.0.5x/175

D.x/100
D.x/100

Answer: B.2x/180
B.2x/180
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73 430 +5.25+6.75-(4.50-7.75 + 1.25)

What is 4.30 + 5.25 + 6.75 - (4.50 - 7.75 + 1.25) ?

A.18.05

A.18.05

B.18.65

B.18.65

C.18.3

C.18.3

D.18.15

D.18.15

Answer: C.18.3

C.18.3

74 1.01+2.02 +3.03+4.04 +5.05=

What is the value of 1.01 + 2.02 + 3.03 + 4.04 + 5.05

A.15.15
A.15.15

B.15
B.15

C.16
C.16

D.15.25

N 4L 20
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Answer:

75

Answer:

76

A.15.15
A.15.15

:%@ 3{Tg "HRTIHR' 30T § 318 TUMHR, R Wi Yafaide! g1 i Faid HIdT HIol
?

If @ = 'Divide' and $ = 'Multiply', then which is the 2nd largest among the options?

A.32@5
A.32@5

B.2.5$3.5
B.2.5$3.5

C.23@3
C.23@3

D.3%2.5
D.3%2.5

C.23@3
C.23@3

HRATAT SERIBRUT, WSH 0T 0T STRTf A [h UM qléqg U3 ST TRRIERG
IRHRAT UfgedT oo feadia aui- HRUMT,’ € & o (U8 dah: SIS _%% TR * &N JdhTd
AGD HIUT?

Who is the author of the book "To the Brink and Back: India's 1991 Story", a book on the
first 100 days of the Narasimha Rao government that took India on the path of
Liberalization, Privatization and Globalization.

A STRTH AT
A.Jairam Ramesh

B.3IH SIGHAM!
B.Ram Jethmalani

C . ARI®R 3R
C.Mani Shankar Aiyar
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D.®Ud Rysad
D.Kapil Sibal

Answer: A STIRTH A
A.Jairam Ramesh

77 20/25+0.75-5/40 =7

What is 20/25 + 0.75 - 5/40 ?

A.1.425
A.1.425

B.1.025
B.1.025

C.1.9
C.1.9

D.2A1
D.2A1

Answer: A.1.425
A.1.425

78 SIFRTUMT 2011 T9R, STdId Y ISP Slaesulaes U akil RN 3R,

As per census 2011, approximately one out of every person in the world is from India.

A4
A4

B.5
B.5

C.6
C.6

D.7
D.7
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Answer: C.6
C.6

79 AT TaTaR W ISTH SHUIRT Ufedl fobareug 318,

The first crickter to have a stadium to his nameis____

AT dgaamx

A.Sachin Tendulkar

B.&fUd <
B.Kapil Dev

C.IRY et

C.Saurav Ganguly

D. AT TMadeh

D.Sunil Gavaskar

Answer: D. I TMadehy
D.Sunil Gavaskar

80 WIeeten! Fard AT yafg Siurr Mg 2

Which of the following options is the largest?

A35+575+425+475-45-275+3.5-8.5
A35+575+425+475-45-275+3.5-8.5

B.3.5-575+425+375+45+275+35+8.5
B.3.5-575+425+375+45+275+35+8.5

C35-575-425+475+45+275+3.5-55
C35-575-425+475+45+275+3.5-55

D.3.5-525+275+3.25+45-275-35-85
D.3.5-525+275+3.25+45-275-35-85

Answer: B.3.5-575+425+3.75+45+275+3.5+8.5
B.3.5-575+425+375+45+275+35+8.5
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81

Answer:

82

Answer:

WeAUD! HIvd [ HRASE S I Te1?

Which of the following statements about India is NOT true?

A 3TTT SASTATAT 100000 TN BTodTd HRA ST HIUTATE! SRIMGR 3MTehHUT Bl ATal.
A.India has never invaded any country in her last 100000 years of history.

B.YRATd gl [NY SATda el

B.Chess was invented in India.

C .S Fald SiRd URe HThaei TR HRATHE 3178,

C.India has the largest number of Post Offices in the world.

Eﬁlmﬁﬂﬁﬂaﬁrﬁﬁﬁ@wé%ww Y 318, Th GRIC&TUET SR AT AR

D.The largest employer in India is the Indian Post Office, employing over a million people.

D.HRAT Taid A3t faiadT 3fea Uike 3iifthy 3M1g, Ush SRIA&TUT SR AT SR
3Tg.

D.The largest employer in India is the Indian Post Office, employing over a million people.

Uohol 3SATUN Il WesTRN Haldd gd?

Pankaj Advani is associated with which sports ?

ASd oY
A.Table Tennis

B.§fGd®

B.Chess

c.faferasy
C.Billiards

D.IMeh
D.Golf

c.faferasy
C.Billiards
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83 WTeitcte! Jaid AT Ay HIurar Mg ?

Which of the following options is the largest?

A15-5-10-15+10-5+2+4+8-5
A15-5-10-15+10-5+2+4+8-5

B25+5-10-15-10-5-2+4+8-10
B25+5-10-15-10-5-2+4+8-10

C15+15+10-15+10-5-2+4+8-5
C15+15+10-15+10-5-2+4+8-5

D15+15-10-15-10-5-2+4+8-5
D15+15-10-15-10-5-2+4+8-5

Answer: C15+15+10-15+10-5-2+4+8-5
C15+15+10-15+10-5-2+4+8-5

84 " HITHTA foRel ATeHTd SITuM=AT UehT= fhrumal shifde HI-Tda SRd JHmond favd
TIIHTT STl Ad A8l T ge-dl DY BUrdrd?

When a light ray passing from a denser medium to rarer medium is not able to penetrate
the rarer medium at an angle greater than critical angle, this phenomenon is known as

AU idifd 3faad—
A.Total internal refraction
B. UG UIAYUl fid tRiacH

B.Total internal reflection

C.UGHUIRIYU! §TeT 3fUdci
C.Total external refraction

D TG UT/RIYUl ST URTacH

D.Total external reflection

Answer: B.W/@Ilﬁ 3fcifd TRracH

B.Total internal reflection
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85 g Sl (JeTum) qurgoft ... 19T SUBRUMNGR il Sild 2

Lie detector test is administered through an instrument called

A TS
A. polygraph

B. 3BT WRIED (FRAURIRNY C&R)
B. hypotheses tester

C. RS

C. Culpascope
D.HIR=aIT%

D. forensograph

Answer: ATIdITS
A. polygraph

86 44 =7 1/8 + 70 =41 40% <41 200% + 0.30 * 180 =

What is 1/8 of 44 + 200% of 40% of 70 + 0.30 * 180 ?

A7
A7

B.117.5
B.117.5

C.115.5
C.115.5

D.114.75
D.114.75

Answer: C.115.5
C.115.5
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87 AU RIam ARSI IsaivyS Tit HRUTTd 3Tl

was the year of Chattrapti Shivaji Maharaj coronation.

A.1674
A.1674

B.1685
B.1685

C.1654
C.1654

D.1676
D.1676

Answer: A.1674
A.1674

88 YR ST FIUGIeR (National Archives of India) URHH 3R

The national archives of India is in

INCARE S|
A.Kolkatta

B.HsS

B.Mumbai

c.fewt
C.Delhi

DTS

D.Chennai

Answer: c.fec
C.Delhi
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89 WTeitcte! Jaid AT Ay HIurar Mg ?

Which of the following options is the largest?

A25+5+10-12+10+5-2+4-8-10
A25+5+10-12+10+5-2+4-8-10

B.15-5+10-15-10-5-2-4+8-10
B.15-5+10-15-10-5-2-4+8-10

C5+5-10-12+10+5-2+4-8-10
C5+5-10-12+10+5-2+4-8-10

D45+5+10-15-10-5+2-4+8-10
D45+5+10-15-10-5+2-4+8-10

Answer: A25+5+10-12+10+5-2+4-8-10
A25+5+10-12+10+5-2+4-8-10

90 SR @ 3§ "HRTHR' 31T § 318 OMHR, IR WIed Uaiaiied! ga=a1 i Faid ST HIol
31872

If @ = 'Divide' and $ = 'Multiply', then which is the 2nd largest among the options?

A.49@5
A.49@5

B.3.5$4.5
B.3.5%4.5

C.33@4
C.33@4

D.3.75%4.5
D.3.75%4.5

Answer: B.3.5%4.5
B.3.5%4.5
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91

Titd It Uit gld

Geet Sethi was a famous

Afeesie

A.Director

B.aT®

B.Scientist

C.EBIg

C.Sportsperson

D.Ig®
D.Singer

C.aBIg

C.Sportsperson

Answer:

92 T YR IRWS Iod QI il

Jharkand state was formed from a part of

AfIER

A.Bihar

B.3NfS=m
B.Odisha

C.ufgy s

C.west bengal

D.SWR USY
D.Uttar Pradesh

AfdER

A.Bihar

Answer:
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93 39 AT 1/6 + 40 U1 15% + 0.25 * 60 =

What is 1/6 of 39 + 15% of 40 + 0.25 * 60 ?

A.29
A.29

B.29.5
B.29.5

C.26.75
C.26.75

D.27.5
D.27.5

Answer: D.27.5
D.27.5

94 W] Fatd HisT yafg Hiurr Mg 2

Which of the following options is the largest?

A35+575+425+475-45-275+3.5-8.5
A35+575+425+4.75-45-2.75+3.5-8.5

B3.5-575+425+375+45+275+35+8.5
B.3.5-575+425+375+45+275+35+8.5

C35-575-425+475+45+275+3.5-55
C35-575-425+475+45+275+3.5-55

D.3.5-525+275+3.25+45-275-35-85
D.3.5-525+275+3.25+45-275-35-85

Answer: B3.5-575+425+3.75+45+275+3.5+8.5
B.3.5-575+425+375+45+275+35+8.5
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95 WU IV MY YR GAHd TdT gadb =T IRUH Ufd SiTelt 3 Ted J1d? U)
hid AHAr g diitid B0l &) Siaied fod fIeR
) grIc s ey fod 3t gcy

Which of the following is said to have inspired the writing of fundamental human rights in
India ?

A) France's Declaration of the Rights of Man

B) England's Bill of Rights

C) United States Bill of Rights

AT, & 3for &t
AA,Band C

B.Thad 3
B.only A

C.3f 3f1for &
C.Aand C

D.Wer off
D.only B

Answer: AT, &t 3for It
A.A,Band C

96 ATell ASUeRTd Fid] Gl IS UUuarardt HITaRiT ot fofcwr siider-ardt gan deit?

Seeking revenge for the death of Lala Lajpat Rai, which British officer did Bhagat Singh kill?

ASRI T DI
A.James A. Scott
B .S A4

B.John Saunders

C.Tid oIS SRR
C.Colonel Reginald Dyer

D. S 91aHA
D.John Simon

Answer: B.Gluﬁﬂﬁ'%ﬁ
B.John Saunders
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97

Answer:

YRATAIA D I0TT IsATd JaTfeieh AIhSvaT 3Mg?

Which Indian state has the highest population?

AJTR U

A.Uttar Pradesh

B.HeRRTY
B.Maharashtra

c.fogr

C.Bihar

D.Tfg# ST
D.West Bengal

AR YT

A.Uttar Pradesh

98 TAIET el HIvITe] TR ¥d 3ieh aradl. SeIeuNe! Ot "I A A" 3%
14 111 3fh TSI SRIT YU d HiSTarH1 fobell desl 0 &1 fehTell Jioidl?

A child reads out all digits of any number. For example Hundred is "One Zero Zero". He
once speaks out all the digits of numbers from 1 to 111. How many times does he come
across the digit '0'?

A.10
A.10

B.19
B.19

C.21
C.21

D.20
D.20

Answer: C.21
C.21
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99 S T U] U Yoo/- BT fohHciall fddhel, Tciiel Uh a¥q AT 0% dlel 9 GERT 9]
fah TR R0% THT T, Tla! ¥R THUM T YT dleT fobdt STer?

Two items are sold at Rs. 500 each, one at a loss of 20% and another at a profit of 20%.
What is the overall profit or loss?

A% Wl
A.1% profit

B.4% drel
B.5% loss

C.PIUCIE! T, T ATet

C.No profit, no loss

D.¥% diel
D.4% loss

Answer: D.¥% dleT
D.4% loss

100 30 =41 80% - 10/40 + 2.25 =

80% of 30 - 10/40 + 2.25 =

A.26.5
A.26.5

B.25.75
B.25.75

C.26.4
C.26.4

D.26
D.26

Answer: D.26
D.26
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